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1] B > wTROMIE 2 &
(1) Sin™* (sm &) D% K& K. (2) Cos™* (\/6 sin — cos —) D% KD K.
11 8 8
(3) Tan 'z + Tan (1 — 2?) = Z 2l te T FEB v 2 TRTRD L.

| 2| koD &,
) et — esinx ] 9w + 3z % . 1
(4) ili% x(1 — cosx) (5) ilg%)( 2 ) (©) wgr—noo z(% + Tan™'2z)

ROBE (FEIRNERR) OUBIB % BRI W ok k.
(7) x=loer (x> 0) (8) sin(Cos™'z) (-1 <2 <1) (9) Sin"'v1—22 (-1<2<0)

(2] (10) Bs f(a) = 2 1” Otz ke k. 771, R IH L o = a CHAGE (or B/ME) b %
Lh) ud BB L.

5] Mo 35 A(1,2,4), B(2,-1,3), C(1,-2,2) Z@2Viliz P L¥5LE, UFOMOIZELE,
(11) = ABC DIHifE %KD K. (12) Fifi P oA 2B I N TRD X,
(13) J§5 O 2 6Pl P I OH 2 F 29 L ¥, B OH DE X2k k.
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(14) P~1AP %k® Xk, (15) Ax =2z %7 $ 2RTEAY MLz 2T TR &,

(16) 1771

1 1 a
a —a| DWEEERD X (a DIEIC K > THETT).
a+1 a—1 2

20 +by+kz=0
I] fri] A e *gﬁ{3x+2y+5z0 IZDWVTRDIIVIZE Z X,
z+2y— z2=0
(17) MEORE D70 D k DFEMZ KD X,

(18) k 2% (17) D4fF 2 iitT & %, HAME KD &,
xr1 + 5:132 + 31‘3 + 31’4 =3
3x1 + 1529 + Taxg+ 9x4= 1

2x1 4+ 10xo + bSx3 + b6y = 2
5x1 + 2529 + 1123 4+ 1624 = —1

(19) IERGBATIN OERIFTI % K K.

(20) fEzRD X, 7L, MEOME L O% S, LEEK (87 X —%) OWY FHIFEAEN 5L, T
o BB DO EFIEICEH LN TV 2151 (= WEOMEWOTE) IR, £/, ERERD
XFE s, t, ... ZHWX
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